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You must answer BOTH questions. 
Prompt A: Explain three reasons why England was the first country to industrialize. (Standard 10.3.1)
	4.0
	In addition to score 3.0 performance, the response may
· compare and contrast England’s factors to those in other countries
· explain more than three factors

	3.0
	· Describe three factors that contributed to England’s lead in industrialization.
· Explain how each factor helped England industrialize first

	2.0
	· Describe three factors that contributed to England’s lead in industrialization.

	1.0
	Partial understanding of some of the simple details of the 2.0 content, but not the 3.0 content

	0
	No understanding demonstrated



Prompt B:  Describe two movements from the following list and explain how each was a response to the changes brought by the Industrial Revolution. (Standard 10.3.6 and 10.3.7)
· Utopianism
· Socialism 
· Social Democracy
· Communism
· Romanticism
· Realism
· Social Darwinism
· Labor Unions

	4.0
	In addition to score 3.0 performance, the response may
· Describe three of the listed movements at a “3” level on the scale
· Compare or contrast how the two movements you chose were responding to the changes brought by industrialization.
· skillfully incorporates multiple, specific, historic examples as evidence.

	3.0
	· Describe the main characteristics or ideas of two of the listed movements
· include historic examples as evidence, such as the names of people important to the movement, books and terms
· Explain how each movement was a response to Industrial changes

	2.0
	· Identify two economic or social changes brought by Industrialization 
· Identify or define the main characteristics or ideas of two of the listed movements

	
	

	1.0
	Partial understanding of some of the simple details of the 2.0 content, but not the 3.0 content

	0
	No understanding demonstrated



